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51. Wh~ch of the following is not the antonym of 'old'? 

(1) Young (2) new (3) past (4) latest 

-- -- 

52. He showed me an old boueh of that tree. 

The underlined word in this sentence points to : 

(1) stem of tree (2) root of tree 

(3) branch of tree (4) leaf of tree 

~ - 

53. Choose the correct alternative to complete the sentence : 

Rohan asked Mohan if : 

(1) he will accompany the parents. 

(2) he accompanies the parents. 

(3) he would accompany the parents. 

(4) he can accompany the parents. 

-. - - - -- 

54. His farm at native was sold for a song. 

The underlined part contextually connotes : 

(1) His love for song made him seU the farm. 

(2) 'The farm was sold at the topmost price. 

(3) The farm was sold because of his laziness and luxuries. 

(4) The farm was sold very cheaply. 

55. Which of the following is not associated with the Polysemic hard ? 

(1) solid (2) iron (3) difficult (4) definitely true 

56. The culpnts (be) very dangerous 

Use appropriate form of the verb in bracket, in simple past 

( I )  was '(2) were (3) are (4) been 

- - - 
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57. I believe that food is cheap in Japan. 

Convert into simple sentence. 

(1) I believe food is cheap in Japan. 

(2) Believing in Japan, food is cheap. 

(3) To my belief food is cheap in Japan. 

(4) 1 am to believe that food is cheap in Japan. 

58. Pick out the correct meaning of the expression given below : 

On and Off 

(1) continuously (2) always (3) at intervals (4) quickly 

- -- 

59. Please keeu vour mouth shut in this matter. 

The underlined part connotes : 

(1) keep silence (2) keep the matter secret 

(3) speak only when asked (4) none of the above 

60. I wish I were in the hot seat. 

Identify the mood. 

(1) Subjunctive (2) Indicative (3) Imperative (4) None of these 

61. Fill in the blank with correct word : 

They frequently us the same old story,. 

(1) tale (2) tail (3) teal (4) ttlli 

62. Fill in the most appropriate preposition : 

These are some tips on candidate's preparation inte~iew.  

(1) of (2) for (3) on (4) aboui -- 3I'W / SPACE FOR ROUGH.WORK 

P.T.O. 



63. I have been taught by a teacher who has talent. 

Substitute the underlined clause with a phrase. 

(1) I have been taught by a teacher teaching me with talent. 

(2 )  A teacher who has talent has taught me. 

(3) A teacher who taught me has talent 

(4) I have been taught by a talented teacher. 

64. She knows where the corruption has taken place. 

Identify the underlined clause. 

(1) Noun clause (2) Adverb clause 

(3) Adjective clause (4) Main clause 

65. Choose the most appropriate word for the blank in the sentence from the choices given 
below : 

She passed her exam. She was for the second time. 

(1) succeeded (2) successful 

(3) successfully (4) successfulness 

66.  Could you please givc me a glass or water ? 

Fill in the article. 

(1) a (2)  an  (3) the (4) no article 

67. Identify the tense in the sentence : 

The branch office has been organis~ng thc function. 

(I) Present continuous (2) Present perfect 

(3) Present perfect continuous (4) Past perfect continuous 

68. Choose the correct meaning for the idiom given below : 

Hit the nail on the head. 

(1) harmed someone hitting the nail on his head. 

(2) done a wrong thing. 

(3) done exactly the right thing. 

(4) blamed a person. 
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69. The interview session is over. You go now. 

Fill in the appropriate modal auxiliary verb. 

(1) could (2) should (3) may (4) might 

70. Pick out the correct usage. 

(1) A large number of ladies has become officers. 

(2) A large number of ladies have become officers. 

(3) A large number of ladies was become officers. 

(4) A large number of ladies were become officers. 

71. The childrens ran verv fastlv when thev saw their teacher. 
(4 (ii) (iii) (iv) 

In this sentence, there are grammatical errors in : 

(1) Part (ii) and (iii) (2) Part (i) and (iii) 

(3) Part (i) and (iv) (4) No error at all. 

72. Her management methods are idiosvncratic but fruitful. 

The underlined word in this sentence means : 

(1) unusual (2) unknown (3) unpleasant (4) unsuitable 

-- p~ 

73. Which of the following sentences suggests ? 

'It is a right thing for the children to respect elders'. 

(1) The children shall respect elders. 

(2) The children should respect elders. 

(3) The children must respect elders. 

(4) The children might respect elders. 

W / SPACE FOR ROUGH WORK 
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74. Choose the correct alternative to complete the following sentence : 

When beautiful is suffixed with -& ? 

(1) it converts noun into adjective. 

(2) it converts adjective into adverb. 

(3) it converts adverb into adjective. 

(4) it maintains the original word class. 
- - - - -. - 

75. Choose the correct question tag for 'You can dnve'. 

(1) can't you ? (2) can you ? (3) don'tyou? (4) won' tyou? 

76. 1 don't know anvthing till now renardin% &. 
(i) (ii) (iii) (iv) (v) (vi) (vii) (viii) (ix) 

The parts of speech of Word No. (iv) and (vii) respectively are : 

(1) noun and verb (2)  pronoun and verb 

(3) pronoun and preposition (4) pronoun and adverb 

77. 1 have served your firm for 25 years. Now it is time for me to call it a dav. 

Which of the following is the most appropriate contextual interpretation of the underlined 
part ? 

(1) to salute your firm. 

(3)  to take last breath. 

(2) to ask for day-shift of working. 

(4) to stop working and get retired 

78. Pick out the correctly spelt word. 

(1) harasment (2) harassment 

(3) harrasment (4) harrassment 

--- -- .- -- -. - 

79. By withdrawing his own statements the leader has taken U-trn.u 

The underlined part means : 

(1) has completely changed the stand. 

(2) has lost the credit and trust. 

(3) has surrendered before the authority. 

(4) none of the above. 

%=5T / SPACE FOR ROUGH WORK 



80. Choose the most appropriate word for the blank in the sentence. 

She learned to -pp when she was eleven. 

(1) sow (2) SO (3) sew (4) none of these 

81. Samiksha is homesick. 

The underlined word is commonly understood as : 

(1) one who is sick at home. (2) one who is sad for being away from home 

(3) one who needs a home. (4) one who is sick without home. 

82. This project is in the ~iveline. 

The underlined part connotes : 

(1) the project will produce pipelines. 

(2) the project is flowing in the pipe. 

(3) the project is being planned and will soon come into existence 

(4) the project is going waste. 

83. "Could you post this letter ?", I said to her. 

'Transform into indirect speech. 

(1) I said her if she could post that letter. 

(2) I told her if she could post that letter. 

(3) I asked her if she could post that letter. 

(4) 1 asked her that she should post that letter. 

84. The colleges are gearing - UD a for cultural competitions. 

The underlined part means : 

(1) starting out (2) taking pace 

(3) offering guidance (4) preparing 

85. He told me to give the students questions before teaching the topic. I think it is keepine the 
cart before the horse. 

The underlined part means : 

(1) freeing the horse tied to the cart. 

(2) doing the things in the wrong order. 

(3) stopping the horse by keeping the cart before it. 

(4) none of the above. 
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86. Sheela was kept waiting by her husband 

Change the voice. 

(1) Her husband wanted Sheela to wait. 

(2) Her husband kept Sheela waiting. 

(3) Sheela was made to wait by her husband. 

(4) None of the above. 

87. Choose the correct meaning words from the choices given below for the underlined expression 
in the sentence. 

Just now my hands are full 

(1) I am very rich 

(2) I do it unconditionally 

(3) my hands are loaded with things 

(4) I am very busy 

88. The phrase 'a bone of contention' means : 

(1) a matter of satisfaction , (2) a brilliant idea. 

(3) an issue solved. (4) a subject of dispute 

89. Which of the following affixes can convert certain adjectives into nouns ? 

(1) -un (2) -ness (3) -less (4) -S 

90. I easily lift this can containing 25 litres ol: kerosene. 

The underlined words are : 

(1) antonyms (2) synonyms (3) homonyms (4) none of these 

WlllU& jrmr / SPACE FOR ROUGH WORK 



91. Mark the passive voice of the sentence : 

The hospital staff took care of Aruna. 

(1) Aruna has been taken care of by the hospital staff. 

(2) Aruna had been taken care of by the hospital staff. 

(3) Aruna was taken care by the hospital staff. 

(4) Aruna was taken care of by the hospital staff. 

- - - - ~  

92. You arrange ~velything and I will come to the party. 

Rewrite using conditional clause. 

(1) Arrange everything, then I will come to the party. 

(2) I %rill come to the party when you arrange everything. 

(3) If I will come to the party, you arrange everything. 

(4) If you arrange everything, I will come to the party. 

93. He asked me "Do vou like Bollvwood actress's &&!" 
(i) (ii) (iii) (iv) 

There is punctuational mistake in : 

(1) Part (i) and (iv) (2) Part (ii) and (iii) 

(3) Part (i) and (iii) (4) Part (iii) and (iv) 

94. Which of the following is the closest synonym of 'cop'? 

(1) guard (2) officer (3) police (4) watchman 

95. Very few women are as intelligent as Sakshi is. 

Change the degree of comparison. 

(1) Sakshi is the most intelligent woman. 

(2)  Sakshi is one of the most intelligent women. 

(3) Saksh~ is more intelligent than any other woman. 

(4) Sakshi is better in intelligence than other women. 

- 
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Passage for 96-100 : 

Hheema thus lived by sifting the ashes of dead bodies. He could not understand this paradox 
of life and death. The distinction between the two was lost on him. He knew that there was gold 
in the ashes of a rich person, and that the ashes of a poor man did not contain a grain of the metal. 
His simple logic led him to believe that only the rich should die to help the poor live in this world 
and that a poor man has no right to die. He solemnly declared to his friends that those leading a 
life of humiliation have no call to live or die. Day and night he searched cremation grounds and 
graveyards. Like a ghoul he lived on corpses and so his life was inextricably woven with corpses. 

The sun set and now it was dark. Bheema ate the food served by his wife. Divining his 
intentions she asked him where he was set for. 'Let's give up this business', she expostulated. 'The 
whole thing is disgusting. This sifting of ashes, the corpses, the gold, everything is ghastly. People 
have started talking about us', she said. 

'Shut up' Bheema shouted at her. Feeling hurt he said in a peevish tone, 'I'll do what I like. 
Let people say what they will. Who'll feed us if I don't earn ? 

'Please don't misunderstand me. This kind of wandering in the cemetery like a fiend is not a 
fitting occupation for you. I'm frightened to death. The whole thing gives me the creeps.' 

'Who's told you that ghosts only haunt graveyards?' retorted Bheema. 'Tlus city of Bombay 
itself is a colony of ghosts. The real spectres live in houses and the dead ones rot in the graves. 
Monsters breed in the city, not in the jungles.' Bheema concluded. 

This silenced her. and Bheema prepared himself for the night's excursion. He growled at his 
wife that he had not got a job while he roamed all over Bombay, but the funeral ashes had brought 
him gold. 'When I broke stone the whole day 1 received only a couple of rupees while a day's work 
on the funeral ashes fetches me a tenner.' He left home in anger. It was quiet everywhere when 
Bheema started on his night round. 

He had covered his head with a piece of cloth and draped himself wit11 the cowl of a gunnybag. 
Having gndled his waist Bheerna walked on with long strides, holding a pointed iron bar under 
his arm. All around him it was pitch dark but Bheema was not afraid. 'The only thought in his 
mind was that of buying a sari, a petticoat and a blouse and a packet of dates. 

96. Who are the real ghosts according to Bheema ? 

(1) Those who rot in the graves. 

(2) People living in the city. 

(3) Dead men in whose ashes there is gold. 

(4) Poor people who die without gold. 
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Bheerna's wife was not happy with his business because : 

(1) she was afraid of ghosts. 

(2 )  sifting of ashes of dead bodies was disgusting. 

(3) she was hurt by Bheema's peevish tone. 

(4) Bheema went on his job in the dark. 

The ultimate motive behind Bheema's wandering in the cemetery was : 

(1) night's excursion (2) feed the family 

(3) win a tenner (4) take a night round 

99. The paradox of life and death is : 

(1) in the death of the rich the poor lives. 

(2) the poor has no right to live. 

(3) the rich should die and the poor should not. 

(4 )  what wife thinks is ignored by the husband. 

100. What is the focus of this passage ? 

(1) Difference between the rich and the poor. 

(2) Differences between husband and wife. 

(3) Poverty-stricken man's choice of unusual occupation. 

(4) Sifting of the ashes of dead bodies. 

?fEEW W4lUd 3fisll/ SPACE FOR ROUGH WORK 
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101. 'm & YQ ?+k (AITUC) 3 qW3 3%7 ? 

(1) *.*. rn ( 2 )  W.B. Ji? 
(3) wiswin ?;rr (4j ~ ~ j l ~ t i ~ m  

Who was the first I'resldent of 'All India Trade Union Congress (AITUC,! ? 

(1) V.V. Giri (2) S.A. Dalige 

(3)  Jawaharlal Nehru (4) L.ala Lajpdt Rai 

In which city was the First Summit of the 'Non-Aligned Movement' held ? 

(1) Belgrade (2) Cairo (3 )  New Delhi (4) Jakarta 

(a) q.4. V T ~  

(b) * * 
(c) Tjf=m Vmd (iii) d 
(d) G'Ld%?md (iv) W P ~  e m ,  '@ 

(a) (b) ( c )  (d) 

(1) (ii) (i) (iv) (iii) 

( 2 )  (i) (ii] (iii) (iv) 

(3) (ii) (i) (iii) (iv) 

(4) (i) (ii) (iv) (iii) 

Choose the appropriate option by matching the pairs of the tollowing : 

(a) M.G. Ranade (i) School for girls, Pune 

(b) Jyotiba Phule (ii) Widhava Wiwahottejak Mandal 

(c) Pandita Ramabai (iii) Arya Mahila Samaj 

(d) Dliondo Keshav Kame (iv) Female Child Orphanage, Pane 

(a) (b) (4 (4 
(1) (ii) (i) (iv) (iii) 

(2) (ij (ii) (iii) (iv) 

(3) (ii) (i) (iii) (iv) 

($1 (i) (ii) (iv) (iii) ' 
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Who founded the "Bombay Mill Hands Association" in 1890 ? 

(1) Narayan Malhar Joshi (2) B.1'. Wadia 

(3) Narayan Meghaji Lokhande (4) S.A. Dange 

During which Governor General's tenurc was the 'Modern Postal System' launched in 
India ? 

(1) William Bentinck (2) Lord Dalhousie 

(3) Lord Canning (4) Lord Ripon 

On gtf' May, 1874 the tram Service First connected which two places in Bombay ? 

(1) Colabd to Byculla (2) Colaba to Fydhoni 

(3) 8a.i Hunder to Thane (4) Bori Bunder to Byculla 

-- - --- - - -- 
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Which revoiutionarv assassitlaled Jackson, the Collector of Nasik ? 

(1) Ganesh Chaphekar (2) V.D. Savarkar 

(3) Anant Kanhere (4) Vishnu Ganesh Pingale 

Wiich one of the following is the characteristic of an external debt ? 

(1) They are payable in domestic currency. 

(2) They are compulsory. 

(3 )  They result in direct rrioney burden. 

(4) None of the above. 

- - .~ 

The specific research work conducted by 'The Kokan Krishi Vidyapectb' is broad!? on 

(1) Sugarcane and Wheat (2) Cotton and Oilseeds 

(3 )  JUWPI. and pulses (4) Rice, h'agii, Ilorticulture C1.0ps 

~ ~ ~ ~. ~~ 
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The planning commission was set up in 

(1) January - 1949 (2) March - 1950 

(3) April - 1951 (4) August - 1950 

111. ~ ~ ? y . 3 * r n * ?  

(a) - r m r ; m r * * W @  

(b) Fmma imTJh rn 

(c) * m a # J I w r n s * * m W d  

(d) 8.lim = 
(1) (a) a#JI (b) (2) (b) fi (4 (3) (c) fi ( 4  (4) (a) 3Tlfol(d) 

What are the main objectives of the tenth plan ? 

(a) Growth with social justice and equzlity. 

(b) Growth in gainful employment. 

(c) Reducing gender gap in literacy and wage rates. 

(d) Increasing savings 

(1) (a) and (b) (2) @) and (c) (3) (4 and (dl (4) (a) m-l* (4 

In the year 2008-09 India's maximum foreign currency was spent on 

(1) Import of iron and steel (2) Import of foodgrains 

(3) Import of petroleum products (4) Import of gold and silver 

- 
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Co-operative banks operate mainly for - 

(1) The benefit of urban areas. (2) The benefit of large scale industries. 

(3) 'The benefit of sewice sectors. (4) The benefit of rural areas. 

114. 2001 7F$l rn fqm 3 1 7  Ommar rn f%Yfb  (HDI) 2001 & 
&? 

As per the National Human Development Report 2001 combined HDI of India for 2001 
was : 

The Tropic of Cancer does not pass through which of the States p e n  below ? 

(1) Madhya Pradesh (2) Chhattisgarh 

(3) Maharashtra (4) Rajasthan 

WRl?f& 3llTI / SPACE FOR ROUGH WORK 



116. -?FT. 

(a) & W * m M H  
(b) Tmrqta3mmm-H 

(c) & M ~ J i m m #  

(d) Tmrqta3m-H 
(a) (b) (4 (4 

(1) (i) (ii) (iii) (iv) 

(2) (iii) (iv) (ii) (i) 

(3) (ii) (iv) (iii) (i) 

(4) (ii) (i) (iv) (iii) 

Match the following : 

(a) The first steam engine railway in Maharashtra 

(b) The First electric engine railway in Maharashtra 

(c) The train covering longest distance in Maharashtra 

(d) The first "Double decker" train in Maharashtra 

(a) (b) (4 (4 
(1) (i) (ii) (iii) (iv) 

(2) (iii) (iv) (ii) (i) 

(3) (ii) (iv) (iii) (i) 

(4) (ii) (i) (iv) (iii) 

(1) 34 3 d 
(ii) t d 
(iii) h 
(iv) & 

(i) Mumbai to Kurla 

(ii) Mumbai to Thane 

(iii) Sinhgad Exp. 

(iv) Maharashtra Exp. 

The latitude and longitude Extension of Maharashtra is - 

(1) 15" 8' N. to 22" 1' N. - 72" 6' E. to 80" 9' E. 

(2) 72" 6' N. to 80" 9' N. - 15' 8' E. to 22" 1' E. 

(3) 8" 4' N. to 37" 6' N. - 68" 7' E. to 97' 25' E. 

(4) lT 8' N. to 22' 1' N. - 68" 7' E. to 97' 25' E. 
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Which of the following irrigation projects is the largest in Maharashtra ? 

(1) Ujani (2) Jayakwadi 

(3) Bhatghar (4) None of these 

@) --W+@*m=fWm (ii) &RI ( ~ m m )  

(4 WmfBga* (iv) (m) 
(a) (b) ( c )  (4 

(1) (i) (iv) (ii) (iii) 

(2) (ii) (iv) (i) (iii) 

(3) (ii) (i) (iv) (iii) 

(4) (iii) (ii) (i) (iv) 

Match the following and choose the correct option : 

(a) The biggest Hydroelectric project in Maharashtra (i) Tarapur (Thane) 

(b) The first Hydroelectric project in Maharashtra (ii) Koyna project (Satara) 

(c) The first Atomic power station in Maharashtra (iii) Jalnsande (Sindhudurg) 

(d) The wind mill project in Maharashtra (iv) Khopoli (Raigad) 

(8 )  (b) (4 (4 
(1) (i) (iv) (ii) (iii) 

(2) (ii) (iv) (i) (iii) 

(3) (ii) (i) (iv) (iii) 

(4) (iii) (ii) (i) (iv) 

TFlT / SPACE FOR ROUGH WORK 



Recognize the group of rivers which creates Punjab and Haryana Plains by their depositional 
work ? 

( l j  Ravi, Bias, Sutlaj (2) Ganga, Kosi, Gomati 

(3) Brahmaputra, Yamuna, Gandak (4) Damodar, Chinab, Mahanadi 

121. * * ~ M ~ o r m & ?  

(a) - - (b) m - 
(c) a3f+i fm (d) +fR fiYm 

(1) (a) ma (2) (c) - (3) (a) JTlfoT ( 4  (4) (b) JTlfoT(d) 

Which of the following are the sub-divisions of Western Himalaya ? 

(a) Sikkim Himalaya @) Kumau Himalaya 

(c) Darjiling Himalaya (d) Punjab Himalaya 

(1) (a) only (2) (c) only (3) (a) and (dl (4) (b) and (4 

Which of the following animals is not omnivorous ? 

(1) pig (2) Fox (3) Man (4) Tiger 

?6=6% WWF& 3 W l /  SPACE FOR ROUGH WORK 
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(3) TF * (4) qmT&w d m m3 
Which of the following is not an explicit function of the Central Pollution Control Board ? 

(1) IJrevention of pollution (2) Monitoring of pollution 

(3) Control of pollution (4) Filing pollution law suits 

(a) M m *  (i) 1992 

(b) m%3 mior (ii) 2012 

(c) TiQW ?Wrt~r (iii) 2002 

(d) d d~ (iv) 1987 

(a) (b) ( 4  (d) 

(1) (iv) (ii) (i) (iii) 

(2) (i) (iii) (ii) (iv) 

(3) (iii) (i) (iv) (ii) 

(4) (ii) (iv) (iii) (i) 

Match the following : 

(a) Johannesburg Summit 

(b) Kyoto Protocol 

(c) Montreal Protocol 

(d) Bali Summit 

(a )  (b) (c) (dl 

(1) (iv) (ii) (i) (iii) 

(2) (i) (iii) (ii) (iv) 

(3) (iii) (i) (iv) (ii) 

(4) (ii) (iv) (iii) (i) 

W W d  5lTT / SPACE FOR ROUGH WORK 

(i) 1992 

(ii) 2012 

(iii) 2002 

(iv) 1987 



Under the Fundamental Rights, which article of the Constitution guarantees the right to life, 
a life of dignity to be lived in a proper environment ? 

(1) 21 (2) 22 (3) 23 (4) 24 

One important step towards sustainable development is 

(1) Population stabilization (2) Education 

(3) Environmental laws (4) Land use planning 

127. ~ a m ~ r ; r ~ ~ ~ / ~ V f @ r F I ~ ?  

(a) v-*= (b) m ~ + P 3 -  

(c) q l * q i * i U ~  (d) T 4  3ign;m m 

(1) -(a) (2) - (b) (3) (b), (4 fi (dl (4) (4, @) Jnfol(c) 

Which of the following is/are major effects of Global Warming ? 

(a) Rising Sea level (b) Dying Coral reefs 

(c) Desertification (d) Increase in food production 

(1) Only (a) (2) Only (b) (3) (b), (4 and (dl (4) (41 (b) and (c) 
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Navi Mumbai, Thane - Belapur belt has the largest Industry Zone in Asia. 

(1) Engineering (2) Chemical (3) Computer (4) Electrical 

(a) vTm3 (i) WWiI 62 -Tddti 

(b) = =wrlVmh ;mcll&T (ii) 06 d 

(c) RNF7 d b c  W m  (iii) 05 d 

(dl afi- (iv) f+m~ 
(a) (b) (c) (4 

(1) (i) (ii) (iii) (iv) 

(2) (iii) (iv) (ii) (i) 

(3) (iii) (i) (ii) (iv) 

(4) (ii) (iii) (iv) (i) 

Match the following : 

A B 

(Prominent Functionaries) (Term of office) 

(a) Governor (i) Till 62 years of age 

@) High Court Judge (ii) 06 years 

(c) Member of state legislative council (iii) 05 years 

(d) Advocate General of State (iv) Not Fixed 

(a) (b) (4 (4 
(1) (i) (ii) (iii) (iv) 

(2) (iii) (iv) (ii) (i) 

(3) (iii) (i) (ii) (iv) 

(4) (ii) (iii) (iv) (i) 
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Question Hour in the Parliament refers to 

(1) the post lunch hour of the house 

(2) the last hour of the sitting of the house 

(3) the first hour of the sitting of the house 

(4) the second hour of sitting of the house 

(a) *MWmd. 

(b) m v I m i h ~ ~ r m f F e m ~ J s f m ~ .  

Consider the following statements regarding the Attorney General of India : 

(a) There is no age limit for his appointment. 

(b) I Ie shall have the right of audience in all the courts in India. 

(c) The term of hls office is fixed by the Constitution of India. 

Which of the statements glven above is/are correct ? 

(1) Only (a) (2) (a) and (b) (3) (bj and (4 (4) Only (b) 

-- .- - 
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Which of the following states has unicameral Legislature ? 

(1) Maharashtra (2) Gujarat (3) UttarPradesh (4) Bihar 

which one of the following does not take part in the election of the President ? 

(1) elected members of Lok Sabha 

(2) elected members of Rajya Sabha 

(3) members of the legislative councils 

(4) none of the above 

-- 
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The Panchayati Raj institution depend for funds mainly on . 
(1) Local Taxes 

(2) Property taxes 

(3) Government Finances (State government) 

(4) Grant-in-aid from Central Government 

135. WR%3 h* W : 

(a) ~mms'4m$*~n~&. 

(b) ~ ~ ~ ~ i % q 5 ~ h m m m m ~  
w *. 
d-&d M/i+ %mi/? m3w */a ? 

(1) - (a) (2) - @) 

(3) (a) afiJl (b) (4) m** 

Consider the following statements : 

(a) In India, the President is a part of Parliament. 

(b) The Constitution of India prescribes both the minimum and maximum age Iimits for 
contesting presidential election. 

Which of the statements given above is/are correct ? 

(1) Only (a) (2) Only (b) 

(3) (a) and (b) (4) None of the above 

3F%7 X P J l d  SPACE FOR ROUGH WORK 

P.T.O. 



fsem (A) : Jjw%sI Wejt &* it, * m e j t  d. 

(2) (A) m (R) rn ay (R) * (A) 4 * * * 
(3) (A) rn ?4T$ (R) &. 

Consider the following statements (A and R) : 

Assertion (A) : Anti-superstition bill is against black-magic and not against any religion. 

Reason (R) : It covers the quacks and dubious practices as cures for ailments and is not 
against religious rituals and rites that cause no mental, physical and financial 
harm to individuals. 

Select your answer from the following alternatives : 

(I) Both (A) and (R) a]-e true and (R) is the correct explanation of (A). 

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A) 

(3) (A) is true but (R) is false. 

(4) (A) is false but (R) is true. 

-- 
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137. ~~. 

'A' 

(a) +F!F 

(b) f+3%f& 

0 m 
( 4  * 

(a) (b) ( 4  (4 
(1) (iv) (iii) (ii) (i) 

(2) (iv) (ii) (iii) (i) 

(3) (iv) (i) (ii) (iii) 

(4) (i) (iii) (iv) (ii) 

Match the pairs : 

'A' 

(a) Facebook 

(b) Linkedin 

(c) Twitter 

(d) Orkut 

(a) (b) ( 4  (4 
(1) (iv) (iii) (ii) (i) 

(2) (iv) (ii) (iii) (i) 

(3) (iv) (i) (ii) (iii) 

(4) (i) (iii) (iv) (ii) 

'B' 

(4 * - 
(ii) * M m 

(iii) fCZ 

(iv) 9l;fi W-f 

'B' 

(i) Orkut Buykokaten 

(ii) Jack Dorcy and others 

(iii) Reed Hophrnan 

(iv) Mark Zukerberg 



Which are the new wildlife sanctuaries in Maharashtra ? 

(a) New Nagzira (b) Tamhani (c) Kola mark (d) Katepurna 

(1) (4,  @)r ( 4  (2) (b), (4, (4 

(3) (4, (41 (a) (4) ( 4 1  (41 (b) 

139. % ~ n f ' f l ~ ~ ~ ~ ~ ~ ?  

(a) ji. & rn (b) 75. WFI f+-&n vlk-it 

(c) ~~~~ (d) X T . & ~ M T Y I ~ ~ S T ~ ~  

Which are the committees appointed by the Maharashtra Government for reforms in the 
standard of Education ? 

(a) Dr. Anil Kakodkar Committee (b) Dr. Arun Nigwekar Committee 

(c) Dr. Ram Takwale Committee (d) Dr. Ved Prakash Mishra Committee 
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'A' 'B' 

(a) h ~ f @  (i) 10 

(b) ~ *h  (ii) 5 

(c) h * f@ (iii) 22 @P3 

( 4  T3-4 3lifi f23 (iv) 22 & 

(1) (i) (i) (iii) (iv) 

(2) (iii) (iv) (ii) (i) 

(3) (iv) (iii) (i) (ii) 

(4) (iv) (iii) (ii) (i) 

Match the pairs : 

'A' 'B' 

(a) World Water Day (i) 10 October 

(b) Earth Day (ii) 5 June 

(c) World Environment Day (iii) 22 April 

(d) National Postal Day (iv) 22 March 

(4 (b) (4 (4 

(1) (i) (ii) (iii) (iv) 

(2) (iii) (iv) (ii) (i) 

(3) (iv) (iii) (i) (ii) 

(4) (iv) (iii) (ii) (i) 
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(a) ~ w - f i m m .  

(b) ~ ~ T w ; L f a * r n ~ ~ ~ .  

(d) w*~?7f%s=$fk?rm*. 

Consider the following directions about acid attacks on girls given by the Supreme Court 
recently : 

(a) To make the offence cognizable and unbailable. 

(b) To hike the amount of compensation up t c ~  Rs. 3 lakhs. 

(c) To sell the acid with authorised identity proof. 

(d) Not to sell acid to a minor. 

Which of the directions given above is/are correct ? 

(1) (a) only (2) (a) and (b) only 

(3) (a), (b) and (c) only (4) All 

-- 
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142. h m .  
'A' 

a )  w 

(a) (b) ( 4  
(1) (i) (ii) (iii) 
(2) (iv) (iii) (i) 
(3) (iv) (ii) (iii) 
(4) (iv) (iii) (ii) 

Match the pairs : 
'A' 

(a) Kiran Desai 
(b) Julian Barns 
(c) Annie Anright 
(d) Arvind Adiga 

(a) (b) (4 
(1) (i) (ii) (iii) 
(2) (iv) (iii) (i) 
(3) (iv) (ii) (iii) 
(4) (iv) (iii) (ii) 

'B' 

(i) <e* 
(ii) < +$?I 
(iii) < lh dW 
(iv) < dW 

(dl 
(iv) 
(ii) 

(9 
(i) 

'B' 
(i) The White Tiger 
(ii) The Gathering 

(iii) The Sense of an Ending 
(iv) The Inheritance of Loss 

(4 
(iv) 
(ii) 

(i) 
(i) 

As per the survey of 'best movies of Bollywood' done by the daily 'Eastern Eye' in Britain, the . . 
correct sequence of first four movies in descending order is 

(1) Sholay, Dilwale Dhulhaniya Le Jayenge, Mother India, Mughal-E-Azam 

(2 )  Mughal-E-Azam, Sholay, Dilwale Dhulhaniya Le Jayenge, Mother India 

(3) Mother India, Mughal-E-Azam, Sholay, Dilwale Dhulhaniya Le Jayenge 

(4) Mughal-E-Azam, Sholay, Mother India, Dilwale Dhulhaniya Le Jayengk 
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144. % W V / l h d  h. 
(A) k ~ ' 3 8 k F W ~ ~ - 2 0 1 3 ' ~ ? m 4 1 ~ .  

(B) k-'<-imm*'~*h*m *. 

(1) (A) *, *en (B) m 
(2) Tf;eR (A) m, *en (B) * 
(3) *+ (A) (8) m m 
(4) 4 (A) q (B) rn * 
Select the correct statement/statements : 

(A) Punjab won the 'Agriculture Leadership Award - 2013' of the Central Government. 

(B) Maharashtra stands first in 'E-Panchayat Programme' of the Central Government. 

(1) Statement (A) is correct, statement (B) is incorrect. 

(2) Statement (A) is incorrect, statement (B) is correct. 

(3) Both the statements (A) and (B) are correct. 

(4) Both the statements (A) and (B) are incorrect. 
. ~ 

145. % *f;e~/*d h. 
(A) ~ * ~ " " ~ ~ ~ ~ * m ~ .  
(B) 7 l F m f m d m M * * - * m d .  

(1) (A) m, Tf;eR (B) * 
(2) Tf;eR (A) w, *f;en (B) * 
(3) 4 (A) q (B) rn * 
(4) *d (A) (B) 3=8 * 
Select the correct sentence/sentences : 

(A) Maharashtra is the first state in India, that banned Gutkha and Pan Masala. 

(B) Karnataka is the first state in India, that adopted separate water policy for the State. 

(1) Sentence (A) is correct, sentence (B) is incorrect. 

(2) Sentence (A) is incorrect, sentence (B) is correct. 

(3) Both the sentences (A) and (B) are correct. 

(4) Both the sentences (A) and (B) are incorrect. 
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"*m~-*.<"*m. , . 



A 45 

146. ~ r n ~ e i m 2 0 0 9 ~ ~ d i t ~ ~ i i t m ~ ?  

(a) h h (b) * ~ u C + R  

(c) a % $ ~ W + n f % q i  (d) WIf& & 

(1) (a) (2 )  * (b) (3) ( 4  (4) (a) * ( 4  

Who of the following will bear the Expenditure Incurred on implementation of right to 
education Act 2009 ? 

(a) Only Central Government (b) Only State Government 

(c) Centre and State together (d) World bank 

(1) Only (4 (2) Only (b) (3) Only (c) (4) (a) and ( 4  

Which countries have been successFu1 in 'Mars Campaign' ? 

(a) America (b) Russia 

(c) European Community (d) China 
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148. d F 3 l  W. [WTWlV - 2013 & Y h ]  : 

'A' '8' 

(a) *.%. (i) h m  W& 

@) * q q  (ii) ~ T K I W ~ T  m, +WRWI TR 

(c) f%l m-4 (iii) zl @=il h 
(d) = i i s i ~  (iv) e . r i *  ~ Y C R  

(a) (b) (c) (4 
(1) (i) (ii) (iii) (iv) 
(2) (i) (iii) (ii) (iv) 
(3) (ii) (i) (iii) (iv) 
(4) (iii) (i) (ii) (iv) 

Match the pairs [With regard to Jamunalal Bajaj Awards 20131 : 
'A' 'B' 

(a) G.V. Subbarao (i) Special contribution in Positive work 
(b) Snehalata Nath (ii) Use of Science, Technology for Rural Development 
(c) Vidhya Das (iii) Development of Child and Women 
(d) Jyon mury Muller (iv) Propagate of Gandhian values abroad 

(a) (b) ( 4  (4 
(1) (i) (ii) (iii) (iv) 
(2) (i) (iii) (ii) (iv) 
(3) (ii) (i) (iii) (iv) 
(4) (iii) (i) (ii) (iv) 

Which one of the following statements is not true about the era of Telegraph Service in 
India ? 

(1) It was started in 1850 on experimental basis between Kolkota and Diamond Harbour. 
(2) It was made available for public use in 1854. 
(3) Braille script was used in the service. 
(4) The service has been officially stopped from 15th July, 2013. 
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150. &iZIWT. 

'A' 

(a) & 3 i m ; h  

(a) (b) (4 ( 4  
(1) (i) ( i )  (iii) (iv) 
(2) (iv) (iii) (ii) (i) 
(3) (iv) (iii) (i) (ii) 
(4) (iii) (iv) (ii) (i) 

Match the pairs : 
'A' 

(a) Virgin of Peace 
(b) The Mother Land Calls 
(c) Spring temple Buddha 
(d) Christ the Redeemer 

(a) (b) (c) ( 4  
(1) (i) (ii) (iii) (iv) 
(2) (iv) (iii) (ii) (i) 
(3) (iv) (iii) (i) (ii) 
(4) (iii) (iv) (ii) (i) 

'B' 

(i) 

(ii) +I 
(iii) T k i f  

(iv) +%Fm S. 

'B' 
(i) Brazil 
(ii) China 
(iii) Russia 
(iv) Venezuela 

- 0 0 0 -  
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